BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL OF KIRBY DRIVE AND FRUGE ROAD LOWER KIRBY PEARLAND MANAGEMENT DISTRICT
CITY OF PEARLAND , HARRIS COUNTY, TEXAS
OCTOBER 08, 2025
LIA ENGINEERING, INC.
S. YOUNG
OCTOBER 8, 2025
2209-2047 (9.2)

BIDDER NAME

BASE BID

1) DECO CONTRACTORS INC.

\$510,721.75

2) STATEWIDE TRAFFIC SIGNAL COMPANY

\$654,495.45

CALENDAR DAYS 290/300

I, KENYA FRANCO, P.E., hereby certify these bid tabulations to be true and correct.



BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL OF KIRBY DRIVE AND FRUGE ROAD LOWER KIRBY PEARLAND MANAGEMENT DISTRICT CITY OF PEARLAND, HARRIS COUNTY, TEXAS OCTOBER 08, 2025
LIA ENGINEERING, INC.

S. YOUNG OCTOBER 8, 2025 2209-2047 (9.2)

				1) DECO CON	TRACTORS INC.	2) STATEWIDE TRAFF	IC SIGNAL COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	SIGNAL ITEMS MOBILIZATION (NOT TO EXCEED 3%), COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$19,000.00	\$19,000.00
2.	TRAFFIC CONTROL AND REGULATION, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$7,000.00	\$7,000.00
3.	INSTALL, MAINTAIN AND REMOVE FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	1600	\$5.00	\$8,000.00	\$10.00	\$16,000.00
4.	SITE PREPARATION, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00
5.	SITE DEMOLITION, COMPLETE IN PLACE	LS	1	\$2,895.00	\$2,895.00	\$3,000.00	\$3,000.00
6.	CISCO CATALYST WIRELESS ACCESS POINT, COMPLETE IN PLACE	EA	1	\$2,700.00	\$2,700.00	\$1,200.00	\$1,200.00
7.	CATALYST 9163E AP(W6E, TRI-BAND 2X2,OUTDOOR) W/REG-B; PART NO. (CW9163E-B), COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00
8.	CISCO SMART NET TOTAL CARE CON-SNT-CW9163EB, COMPLETE IN PLACE	МО	1	\$750.00	\$750.00	\$700.00	\$700.00
9.	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT, COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$250.00	\$250.00
10	CAPWAP SOFTWARE FOR CATALYST 9163E; PART NO. (SW9163E-CAPWAP-K9), COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$250.00	\$250.00
11.	CISCO DNA SUBSCRIPTION OPTOUT FOR CW9163E; PART NO. (CW9163E-DNA-OPTOUT), COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$250.00	\$250.00
12.	4/8/8 DBI OMNI DIPOLE, N CONNECTOR, CATALYST AND MERAKI; PART NO. (CW-ANT-O1-NS-00), COMPLETE IN PLACE	EA	4	\$400.00	\$1,600.00	\$350.00	\$1,400.00
13.	GPS/GNSS ANTENNA, OUTDOOR, SMA CONNECTOR, CATALYST AND MERAKI; PART NO. (CW-ANT-GPS2-S-00), COMPLETE IN PLACE	EA	1	\$750.00	\$750.00	\$400.00	\$400.00
14.	VERTICAL POLE/WALL MOUNTING KIT FOR CATALYST APS ; PART NO. (AIR-MNT-VERT1=), COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$250.00	\$250.00
15.	ACCESSORY KIT FOR CW9163E, CATALYST AND MERAKI ; PART NO. (CW-ACC-KIT1-00), COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$250.00	\$250.00
16.	2.4 AND 5 GHZ LIGHTNING ARRESTOR, N CONNECTOR ; PART NO. (AIR-ACC245LA-N=), COMPLETE IN PLACE	EA	4	\$750.00	\$3,000.00	\$450.00	\$1,800.00
17.	CATALYST IE3300 W/ 8 GE COPPER (4PPOE) & 2 10G SFP, MOD, NA; PART NO. (IE-3300-8U2X-A), COMPLETE IN PLACE	EA	1	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00
18.	IE 4GB SD MEMORY CARD FOR IE ; PART NO. (SD-IE-4GB), COMPLETE IN PLACE	EA	1	\$750.00	\$750.00	\$400.00	\$400.00
19	IE FAMILY POWER SUPPLY 170W. AC TO DC ; PART NO. (PWR-IE170W-PC-AC), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
20.	CISCO NETWORK ADVANTAGE LICENSE FOR IE3300 SERIES ; PART NO. (IE3300-NW-A), COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$250.00	\$250.00
21.	SMART CITIES AND COMMUNITIES SOLUTIONS; FOR TRACKING ONLY.; PART NO. (IOT-SMART-CITIES), COMPLETE IN PLACE	EA	1	\$7,500.00	\$7,500.00	\$250.00	\$250.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL OF KIRBY DRIVE AND FRUGE ROAD LOWER KIRBY PEARLAND MANAGEMENT DISTRICT CITY OF PEARLAND, HARRIS COUNTY, TEXAS OCTOBER 08, 2025 LIA ENGINEERING, INC.
S. YOUNG

OCTOBER 8, 2025

2209-2047 (9.2)

			1) DECO CONTRACTORS INC.		2) STATEWIDE TRAFFIC SIGNAL COMPANY		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
 CONNECTED ROADWAYS: INTERSECTIONS, TOLLING; TRACKING ONLY; PART NO. (IOT-ROADWAYS), COMPLETE IN PLACE 	EA	1	\$7,500.00	\$7,500.00	\$250.00	\$250.00	'VC.
 SOFTWARE FOR CATALYST IE3300 10G RUGGED SERIES; PART NO. (IE3300X_SW), COMPLETE IN PLACE 	EA	1	\$1,000.00	\$1,000.00	\$250.00	\$250.00	
24. CATALYST IE3300 WITH 8 GE SFP FIBER PORTS, EXPANSION MODULE; PART NO. (IEM-3300-8S=), COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00	
25. 10GBASE-LR SFP MODULE FOR EXTENDED TEMP RANGE; PART NO. (SFP-10G-LR-X=), COMPLETE IN PLACE	EA	2	\$750.00	\$1,500.00	\$3,600.00	\$7,200.00	
26. AXIS Q6100-E 60 HZ NETWORK CAMERA ; PART NO. (AXIS 01711-001), COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	
27. AXIS Q6075-E 60 HZ NETWORK CAMERA ; PART NO. (AXIS 01752-004), COMPLETE IN PLACE	EA	1	\$5,800.00	\$5,800.00	\$4,500.00	\$4,500.00	
28. AXIS T91D62 TELESCOPIC PARAPET MOUNT, COMPLETE IN PLACE	EA	1	\$900.00	\$900.00	\$800.00	\$800.00	
SUBTOTAL TRAFFIC SIGNAL ITEMS			1	\$95,045.00	_	\$82,850.00	
TXDOT ITEMS 1. DRILL SHAFT (TRF SIG POLE) (36 IN), COMPLETE IN PLACE	LF	28	\$425.00	\$11,900.00	\$500.00	\$14,000.00	
2. DRILL SHAFT (TRF SIG POLE) (48 IN), COMPLETE IN PLACE	LF	44	\$550.00	\$24,200.00	\$600.00	\$26,400.00	
3. CONDT (PVC) (SCHD 80) (2"), COMPLETE IN PLACE	LF	105	\$20.00	\$2,100.00	\$17.00	\$1,785.00	
4. CONDT (PVC) (SCHD 80) (3"), COMPLETE IN PLACE	LF	75	\$28.00	\$2,100.00	\$19.00	\$1,425.00	
5. CONDT (PVC) (SCHD 80) (3") BORE, COMPLETE IN PLACE	LF	450	\$26.00	\$11,700.00	\$19.00	\$8,550.00	
6. CONDT (PVC) (SCHD 80) (4"), COMPLETE IN PLACE	LF	45	\$35.00	\$1,575.00	\$21.00	\$945.00	
7. ELEC CONDUCTOR (NO.6) BARE, COMPLETE IN PLACE	LF	575	\$2.80	\$1,610.00	\$2.10	\$1,207.50	
8. ELEC CONDUCTOR (NO.4) BARE, COMPLETE IN PLACE	LF	80	\$3.75	\$300.00	\$4.00	\$320.00	
9. ELEC CONDUCTOR (NO.4) INSULATED, COMPLETE IN PLACE	LF	155	\$3.75	\$581.25	\$5.00	\$775.00	
10. TRAY CABLE (4 CONDR) (12 AWG), COMPLETE IN PLACE	LF	1130	\$3.05	\$3,446.50	\$3.00	\$3,390.00	
11. GROUND BOX TY D (162922)W/APRON, COMPLETE IN PLACE	EA	6	\$1,675.00	\$10,050.00	\$2,700.00	\$16,200.00	
12. ALUMINUM SIGNS (TY A), COMPLETE IN PLACE	SF	71	\$75.00	\$5,325.00	\$85.00	\$6,035.00	
13. REFL PAV MRK TY I (W)24"(SLD)(100MIL), COMPLETE IN PLACE	LF	76	\$18.00	\$1,368.00	\$11.00	\$836.00	
14. PAVEMENT SLER 24", COMPLETE IN PLACE	LF	76	\$10.00	\$760.00	\$3.00	\$228.00	
15. PAV SURF PREP FOR MRK (24"), COMPLETE IN PLACE	LF	76	\$8.00	\$608.00	\$1.10	\$83.60	
16. INSTALL HWY TRF SIG (SYSTEM), COMPLETE IN PLACE	EA	1	\$45,000.00	\$45,000.00	\$103,500.00	\$103,500.00	
17. VEH SIG SEC (12 IN) LED (GRN), COMPLETE IN PLACE	EA	8	\$375.00	\$3,000.00	\$300.00	\$2,400.00	
18. VEH SIG SEC (12 IN) LED (GRN ARW), COMPLETE IN PLACE	EA	4	\$375.00	\$1,500.00	\$300.00	\$1,200.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL OF KIRBY DRIVE AND FRUGE ROAD LOWER KIRBY PEARLAND MANAGEMENT DISTRICT CITY OF PEARLAND, HARRIS COUNTY, TEXAS OCTOBER 08, 2025
LIA ENGINEERING, INC.
S. YOUNG
OCTOBER 8, 2025

2209-2047 (9.2)

			1) DECO CONTRACTORS INC.		2) STATEWIDE TRAFFIC SIGNAL COMPANY		
		27/					
NO. ITEM DESCRIPTION 19. VEH SIG SEC (12 IN) LED (YEL), COMPLETE IN PLACE	UNIT EA	QTY 8	\$375.00	\$3,000.00	\$300.00	\$2,400.00	
20. VEH SIG SEC (12 IN) LED (YEL ARW), COMPLETE IN PLACE	EA	4	\$375.00	\$1,500.00	\$600.00	\$2,400.00	
21. VEH SIG SEC (12 IN) LED (RED), COMPLETE IN PLACE	EA	8	\$375.00	\$3,000.00	\$300.00	\$2,400.00	
22. VEH SIG SEC (12 IN) LED (RED ARW), COMPLETE IN PLACE	EA	4	\$375.00	\$1,500.00	\$300.00	\$1,200.00	
23. PED SIG SEC (LED)(COUNTDOWN), COMPLETE IN PLACE	EA	4	\$705.00	\$2,820.00	\$700.00	\$2,800.00	
24. BACKPLATE W/REFL BRDR (3 SEC) ALUM , COMPLETE IN PLACE	EA	8	\$195.00	\$1,560.00	\$180.00	\$1,440.00	
25. BACKPLATE W/REFL BRDR (4 SEC) ALUM, COMPLETE IN PLACE	EA	4	\$265.00	\$1,060.00	\$200.00	\$800.00	
26. TRF SIG CBL (TY A)(12 AWG)(2 CONDR), COMPLETE IN PLACE	LF	945	\$2.60	\$2,457.00	\$2.50	\$2,362.50	
27. TRF SIG CBL (TY A)(12 AWG)(4 CONDR), COMPLETE IN PLACE	LF	945	\$3.40	\$3,213.00	\$3.25	\$3,071.25	
28. TRF SIG CBL (TY A) (12 AWG) (7 CONDR), COMPLETE IN PLACE	LF	1660	\$4.80	\$7,968.00	\$4.50	\$7,470.00	
29. INS TRF SIG PL AM(S)1 ARM(32')LUM, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$30,000.00	\$30,000.00	
30. ORNAMENTAL MAST ARM /POLE, COMPLETE IN PLACE	EA	1	\$30,000.00	\$30,000.00	\$26,500.00	\$26,500.00	
31. LUMINAIRE, COMPLETE IN PLACE	EA	1	\$7,100.00	\$7,100.00	\$3,500.00	\$3,500.00	
32. INS TRF SIG PL AM(S)1 ARM(40')LUM, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$35,000.00	\$35,000.00	
33. ORNAMENTAL MAST ARM /POLE, COMPLETE IN PLACE	EA	1	\$36,000.00	\$36,000.00	\$31,500.00	\$31,500.00	
34. LUMINAIRE, COMPLETE IN PLACE	EA	1	\$7,100.00	\$7,100.00	\$3,500.00	\$3,500.00	
35. INS TRF SIG PL AM(S)1 ARM(55')LUM, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$39,000.00	\$39,000.00	
36. ORNAMENTAL MAST ARM /POLE, COMPLETE IN PLACE	EA	1	\$40,000.00	\$40,000.00	\$35,500.00	\$35,500.00	
37. LUMINAIRE, COMPLETE IN PLACE	EA	1	\$7,100.00	\$7,100.00	\$3,500.00	\$3,500.00	
38. INS TRF SIG PL AM(S)1 ARM(60')LUM, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$41,000.00	\$41,000.00	
39. ORNAMENTAL MAST ARM /POLE, COMPLETE IN PLACE	EA	1	\$42,000.00	\$42,000.00	\$37,500.00	\$37,500.00	
40. LUMINAIRE, COMPLETE IN PLACE	EA	1	\$7,100.00	\$7,100.00	\$3,500.00	\$3,500.00	
41. PED DETECT PUSH BUTTON (APS), COMPLETE IN PLACE	EA	4	\$850.00	\$3,400.00	\$1,000.00	\$4,000.00	
42. PED DETECTOR CONTROLLER UNIT, COMPLETE IN PLACE	EA	4	\$4,250.00	\$17,000.00	\$2,700.00	\$10,800.00	
43. BBU SYSTEM (EXTERNAL BATTERY CABINET), COMPLETE IN PLACE	CE EA	1	\$8,750.00	\$8,750.00	\$7,218.60	\$7,218.60	
44. HVDS W/FXD LNS, COMPLETE IN PLACE	EA	4	\$5,500.00	\$22,000.00	\$3,500.00	\$14,000.00	
45. TY 1 SENSOR, COMPLETE IN PLACE	EA	3	\$4,300.00	\$12,900.00	\$3,500.00	\$10,500.00	
46. TY 2 SENSOR (C2V, RSU), COMPLETE IN PLACE	EA	1	\$4,300.00	\$4,300.00	\$3,500.00	\$3,500.00	
47. TRF SIG CBL (TY A) (16 AWG) (3 CONDR), COMPLETE IN PLACE	LF	1000	\$4.00	\$4,000.00	\$3.00	\$3,000.00	
48. TRF SIG CBL (TY A) (16 AWG) (3 CONDR), COMPLETE IN PLACE	EA	1	\$725.00	\$725.00	\$3.00	\$3.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL OF KIRBY DRIVE AND FRUGE ROAD LOWER KIRBY PEARLAND MANAGEMENT DISTRICT CITY OF PEARLAND, HARRIS COUNTY, TEXAS OCTOBER 08, 2025
LIA ENGINEERING, INC.
S. YOUNG
OCTOBER 8, 2025

				1) DECO CON	ITRACTORS INC.	2) STATEWIDE TRAFFIC SIGNAL COMPANY	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
49.	VID IMAGE AND RADAR DET PROCESSOR SYS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$13,000.00	\$13,000.00
SUBTOTA	AL TXDOT ITEMS			•	\$415,676.75		\$571,645.45
BID SUM	IMARY						
TRAFFIC	SIGNAL ITEMS				\$95,045.00		\$82,850.00
TXDOT IT	TEMS				\$415,676.75		\$571,645.45
TOTAL A	MOUNT BASE BID				\$510,721.75		\$654,495.45

2209-2047 (9.2)